Question 25:  Which ONE marketing channel would you prefer to use in the future?
This question is also similar to question 16, and the choices are dependent – if you choose one option, you can’t also choose another.

There were 31 surveys that showed no answer for question 25.  Again, I deleted them from the analysis, so that there are N = 209-25 = 184 surveys for this question.  Again, some may quibble about deleting the non-answers.  I think you can justify it by pointing out the broad diversity of types of organic farms, and that it’s difficult to write questions that apply to everyone’s operation, and be sure to note that the numbers you are discussing for this question refer only to the 184 people who chose to answer this question.

Interestingly, I compared the non-answers for question 24 and the non-answers for question 25, and didn’t see any connection.  Lots of people who answered #24 failed to answer #25, and vice versa.  I don’t know quite what to make of that.

I came up with 26 people who marked more than one choice.

[You know, you might be able to do a study comparing organic farmers to some other group as to their willingness to follow directions!]

As in #16, I weighted the choices for those who picked more than one – so if someone made two choices, each is worth 0.5.

Now, with 7 choices and 184 surveys, the random chance number for each choice should be 184/7 = 26.

Note that the random chance number and the mean of the seven numbers are similar: the mean = 25.  This is good; it means there’s no problem with using the standard deviation calculated from the mean to show differences from the random chance number.

Weighted sums:

Forward contracts A = 49

Direct sales           B = 67

Direct retail          C = 16

Brokers                 D = 27

Farmers’ Mkt.      E =   3

CSA                     F =   6

Other                    G = 10

Standard deviation (SD) = 24
-1 SD = 2
Random chance number = 26

+1 SD = 50
+2 SD = 74
So, you can say that choice B was the clear preference – the number of votes was more than one standard deviation greater than the random chance number.  

Choice E (farmers’ markets) was clearly non-preferred; it received a number of votes that was more than one standard deviation less than the random chance number.

** Added note after correcting the SD so that it went from 22 to 24:   This knocked choice A out of the +1 SD cateogory – just BARELY – if we’re looking at the random chance number of 26.  If we used the mean of 25, it would be +1 SD.  This is the kind of thing that makes people hate statisticians!  I would say that you could still talk about forward contracting as being a popular method – very close to the magic +1 SD number, and since we had difficulties with the data and had some non-answers, we shouldn’t assume that the numbers we have are truly definitive. They are just suggestive.
